Potencias de 10 (H)

Calcule los siguientes productos y cocientes.

2,726 <+ 1000

7,68 = 1000

6,162 = 10

3,527 x 100

4,467 x 100

3,1+ 1000

2,964 1000

7,188 <1000

5,915 x 100

3,855 =100

0,303 x 100

0,778 <1000

1,922 x 10

2,458 x 10

9,878 x 100

6,237 x 100

9,945 +-10

7,915 x 1000

2,83 x 1000

7,679 +100
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Potencias de 10 (H) Respuestas

Calcule los siguientes productos y cocientes.

2,726 -+ 1000
0,002726
7,68 + 1000
0,00768
6,162+ 10
0,6162
3,527 x 100
352,7
4,467 x 100
446,7
3,1= 1000
0,0031
2,964 -+ 1000
0,002964
7,188 = 1000
0,007188
5,915 x 100
591,5
3,855+ 100
0,03855

0,303 x 100
30,3
0,778 -+ 1000
0,000778

1,922 x 10
19,22

2,458 x 10
24,58

9,878 x 100
987,8

6,237 x 100
623,7
9,945 10
0,9945

7,915 x 1000
7.915

2,83 x 1000
2.830
7,679 + 100
0,07679
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